Wi H 2 g H s e

T H & #x LV ER M AERRIRIT 1112 M 8 F IR S5 uh w4 KT
T RACH 135003 St S BB EER
IiH @ FES T H 01 H # 20214F1 A-20214E12H
FRYT ¥ 4 S 40 GE VR 4
T F % 4
b WBUREK 40 Hob WER K
CH7E) oAb 4 KAy 4
i H AR G H R
EARL: B Sl RBURST, (RBEEDEI 12 TAEIEHE | HARL: WRlRv et R AURS, (RRSEIEI1 TR
7. EHIELT
Stk B AR
HA5r2: H#Fr2:
HFr3: HF53:
—KFatr | —debr =Y &=L SR AN %=1 N =7 Ei= N FePrE
sty | gﬁ%ﬁi <95A | wmdsbs | owrribsesce | <95A
iRl | BEWHEE 295% FURFEbR BETEE 295%
e AR bR
W RdEhs | R NZERRR >85% B €T i NERRR 285%
WAL | VAT S| =95% R AR b TEIT MR =95%
YV Ei=L I
GG s | ohm AN E S GRS ‘ .
ORI W AR e | genomas | 2Em
I xR I
y' ol 2% 7 Il 25 e
ﬁ%gm% mrwnE | 295% ﬁzémﬁi BT >95%
W FEA
sk 2% te | Kb as = gl 2% e
R KGRI | gogee | FEMER pmmp i | s
b B R
AR | 28 Bk At B : LIEEE 70| RN ‘
SHs e S R H&%X‘T%ﬁ% S 2 e > 0 H&%Xﬂ‘%jﬁ K eI > 0
R EER S e 953 N = =98% e b RN =98%




Wi H 2 g H s e

19 H 4k Sk E R R 1L A R R 5
T RACH 135003 St S BB EER
W H & WL H 0 H ¥ 20214E1 H-20214F12H
r T 4 LA 527.83 PR 4 A 527.83
WiH %4
o WEdR R 527.83 Hodr: Bk 527.83
(FIT) HAh B 4 HAh %4
A H bR G =R N
Hrl: RS S%KAT, RETIEIEYIZET. Hbrl: BRORE S I%n SRR, R TREIEWIET.
JSYZNER
HA5r2: HAr2:
H#r3: H#53:
ks | Cgueks | S gusk bl | sk =gtk HehR{
sigs | PRI o | wmdmks | mirmmms | 298%
R ) o
b ﬂ”@f”* 98% | mitiahi | BoTkemE 98%
P2 464
T BT A5 N . ey
ahaety [EOEBITRE g sl | REEEITEEER | 2
HESE K
B A 492 7 3
sty | S O IATUT 2 RATERT | RO AR 2
AR 5E K
ST
spneste| - |awess| L e p
’%gm&'ﬁ@kﬁ%ﬁ it ﬁﬁ Bl s s e
y d AN e 1 =] ) > 7 Il 25 e
b x bR
MRS
et 2% e | o i ik 25 e
R KGRI | gogee | FEMER pmmp i | s
7 BB w
S | 2 R LI R ‘
FIROON SEPHRA AT ey | TRER) g gt Jitg
7 b Hh
RETEN O H&%X‘T%ﬁ% SR S e > 0 H&%Xﬂ‘%jﬁ ) S e - 0
W B AR bR S e 953 N3l =98% e b RN =>98%




Wi H i gis 0,

w i

H 448k ISR B SR A OUE AN BT
G RACH 135003 St S BB EER
W H @ LT H 0 H ¥ 20214E1 H-20214F12H
R P 4 R 175.372 FE R U A 175.372
WiH ¥t 4
Hop: WBUREK 175.372 o Bk R 175.372
(Jigt) HA %4 Hit% 4
HIH E AR SEFEH AR
AL BhRVE G AR, (RpeteRe i sy, | PR IRVESHOEHURT, GRERE LAE
Bk E R
HA5r2: H#Fr2:
HFr3: HF53:
—ZFeks | —Zdehs = FRbR FEAnE 4 E =Y YRR fetrE
BETEIR (12 NI 260000 A | HEfEhr A2V >60000A
FiEfetr | BRI EE >98 A 5=zt TR = >98 A
R AR
INEYEEY T &R Rehe N BEi=Y 7 HEIRAT pSaiN]
At bE | A B ) R >98% FRAFR R JlA g il 298%
TR bR N Al 3
HEMEH prpman|  ® | amEaes g
MR bR
AR AR AR | R - EBREAR| e T U N
o L e o KRB R | BufEe
11 ;{;g/
?aﬁ f Ta ?fT
st 2 &2 003 ] RS- ~ gq0 R 45 %of 53 . ~ g0
W TR ST N =98% o i NI R =98%




Wi H 32l g H s e

T H 44 7k BEIT R4S S5 ORBERE NPT & O ERGF LR S RED
G RACH 135003 St S BB EER
I H J& FELL T H i B 1 20214E1 7 -20214E12 H
R 4 R 95 FE R U A 95
T H %4
o LR 95 o Bk R 95
(i HoAth %t 4 HAh g 4
HIH E AR EE H iR
R RV AR MR % sy, | D MRTERITERIRT, SRRl ER s
Bk E R
H¥r2: H¥r2:
HFr3: HF53:
—%Fabr | —gdatr =fekx FEAnE 7 =1 7 YRR fetrE
BETEIR WEZINY =60000 HEARAR MAZINY/N =60000
FiEfEr | BEIT RS U =35% J5i=Ki=E i EIT RS U =35%
R AR
INEYEEY T &R Rehe N BEi=Y 7 HEIRAT pSaiN]
AR | AR HIR]  298% RAFE R FR A2 1] % >98%
TR bR
LA AN % e SR N 3% e
éﬁ?émfa NZaToN >3000735¢ é(ﬁﬁm*a NIZAON =3000/5 7T
1 A5k 25 Fe w245 te
L e . I e B =954
by i
MR bR
AR PR | KRS B B . oy ik = RN NN .
o s BT -~ KR o g L ELVAIS
AT RREERL N | 22 R IRAT ) ! EEsES-A A B At T i
it o o | IR RIE [ ) ~ g R 45 %of 53 P ) g -




Wi H 32l g H s e

WL 447K BLOR 24 i 38 72 AN B 4
G RACH 135003 St S BB EER
I H J& FELL T H i B 1 20214F1 A-20214E12 H
A R 4 A 30 FE R U A 30
T H %4
o WEdE R 30 o Bk R 30
(Hi) HoAth %t 4 HAh g 4
HIH E AR EE H iR
AL WhRVE G RARAT, BhRIERed s sy, | IR RV RURLT, SRR
Y=
HA5r2: H#Fr2:
HFr3: HF53:
—&febr | 48k | ZH3EkR Fabr{E %7 =Hiskr Ei=p AN
BETEIR MAZINY/N =60000 8K = i MAZINY/N =60000
FERR | BT ARSI >35% JRETE bR BEIT ARSI >35%
= R bR
WRFEtE | BEaRAT Kehd EEE =R Be IR At Rehd
AR | AT HIZE|]  298% AT FR A2 1] % >98%
UV E =YY
A A5k 25 e LA 25k 2% 6
,I{?]‘émlifa NZI'oON >300075 ¢ ,I@'?;imﬁa NIZ PN =3000/5 7T
1 A5k 25 Fe 2% Fe
ﬁz:)«élmﬁa e Tt >095% %iz:)d}mi ] TR >095%
b i
Ly ERE Y
ARt k¥ i . BRI o . -
A ﬁg;g}gﬁ mugee | CEUEE) e | e
AR | 2 W HR AT J ! CIERZ55-A1 - o i
S 2 e L L EE%Xj—%?% ) e e e >0QQ0 H&%Xj%i% 3 A = e > QQQ
{WE'\Q?E*/F %E*E*ﬂ? ﬁ‘i}\ﬁﬁ}%‘w a =98% %E*E*ﬂ? fﬁ)\ﬁﬁ%&g =98%




